#include <ezButton.h>
#include <LiquidCrystal.h>

#include <Servo.h>

#define VRX_PIN A@
#define VRY_PIN Al
#tdefine SW_PIN 2

ezButton button(SW_PIN);
Servo myservo;

RS =7, EN =8, D4 = 3, D5 = 4, D6 = 5,
LiquidCrystal 1cd(RS, EN, D4, D5, D6, D7);

xValue 0;
yValue = 0;
bValue ’H
trigPin = 10;
echoPin = 9;

duration_cm;

ledPins[] = { 13, 12, 11 };

*initialMessage[] = { "great , "okay ", "horrible" };

*goodMessages@[] = { "That's good to", "Keep up the", "I'm here when", "Have a nice day"

*goodMessagesi| ] { "hear, Mark! ", "amazing work!", "you need me.", "Mark :)" };

*okayMessages@[] = { "That's entirely"”, "It's fine to not", "Would you like", "Try to

it", "Take a break ", "do one thing to", "I'm here when" };

*okayMessages1[] = { "okay Mark...

, "always feel good", "general meds?", "easy

, "from work and...", "bring you joy.", "you need me." };

*badMessagesO[] = { "That's totally", "Some days we do", "And that's okay.", "Breathing
skills", "Breathe along", "I hope that", "Have some meds", "Take it slowly", "And I hope you"
¥

*badMessages1[] = { "valid, Mark.", "not feel good...", " ", "could help.", "with the

arrows.", "helped a little.", "to help out.", "today.", "feel better soon." };

*yesNo[] = { "Yes", "No" };

currentPin = -1;




count

start

end = 0;

medication

pressState 0;

initialDone = 0;

inRange = 0;

byte customChari[8] = {
0b00100,
obollie,
eb11111,
0b00100,
0b00100,
0b00100,
0b00100,
0b00100

bE

byte customChar2[8] = {
0b00100,
0b00100,
0b00100,
0b00100,
0b00100,
ob11111,
obo1110,
0b00100

15

setup() {
lcd.begin(16, 2);
lcd.createChar(1, customCharl);
lcd.createChar(2, customChar2);
myservo.attach(A4);




lcd.setCursor(9, 90);
Serial.begin(9600);
button.setDebounceTime(50);

for ( thisPin = 0; thisPin < 4; thisPin++) {

pinMode(ledPins[thisPin], OUTPUT);

}
pinMode(trigPin, OUTPUT);
pinMode(echoPin, INPUT);

Loop() {

pressState = button.isPressed();
button.loop();

xValue = analogRead(VRX_PIN);
yValue = analogRead(VRY_PIN);
bValue = button.getState();
digitalWrite(trigPin, HIGH);
delayMicroseconds(10);
digitalWrite(trigPin, LOW);

duration_cm = (pulseIn(echoPin, HIGH)) * .017;

delay(2590);
if (duration_cm <= 15) {

inRange++;

if (inRange > 0) {
if (start == 0 && initialDone == @) {

lcd.setCursor(@, 0);
lcd.print("How are you ");
lcd.setCursor(@, 1);
lcd.print(“feeling today?");
delay(2000);
lcd.clear();
start++;




if (start != 0 && initialDone == @) {
initialQuestion();
if (bValue == 0) {

initialDone = 1;
lcd.clear();

start = 0;

if (currentPin >= 1) {

count = -1;

if (initialDone == 1) {

if (currentPin == 0) {

if (start == 0) {
lcd.setCursor(0, 9);
lcd.print("So, you're");
lcd.setCursor(e, 1);
lcd.print("feeling "), initialMessage[currentPin];
lcd.setCursor(8, 1);
lcd.print(initialMessage[currentPin]);
delay(3000);
start++;
lcd.clear();

}

if (start != 0) {
if (count >= @) {

Serial.println(count);

lcd.setCursor(9, 0);
lcd.print(goodMessages@[count]);
lcd.setCursor(o, 1);
lcd.print(goodMessagesi[count]);
delay(250);

if (225 >= xValue <= 725 && yValue <= 10)

count++;
lcd.clear();
if (count ==

count = 0;




}

if (currentPin

if (start == 0 & end == 0) {

if (225 >= xValue <= 725 && yValue <= 10) {
lcd.clear();
count++;
if (count == 3) {
start++;
lcd.clear();

lcd.setCursor(0, 0);
lcd.print(okayMessages@[count]);
lcd.setCursor(0, 1);
lcd.print(okayMessagesi[count]);

}
delay(259);

}
if (start != 0 & end == 0) {

lcd.clear();
lcd.setCursor(e, 0);
lcd.print(yesNo[medication]);
if (225 >= xValue <= 725 && yValue <= 10)
medication++;
lcd.clear();
if (medication == 2) {

medication = 0;

}
delay(250);

if (bValue == 0 && medication == 0) {

Serial.println(" meds");
lcd.setCursor(0, 0);
lcd.print("Dispensing meds...");
delay(2000);

dispense();

lcd.clear();

lcd.setCursor(9, 0);
lcd.print("Here, take these");
lcd.setCursor(9, 1);




lcd.print("...");
delay(2000);
end++;
lcd.clear();

}
if (bvalue == 0 && medication == 1) {

lcd.clear();

}
if (end != 0) {

lcd.setCursor(0, 9);
lcd.print(okayMessages@[count]);
lcd.setCursor(e, 1);
lcd.print(okayMessagesi[count]);
if (225 >= xValue <= 725 && yValue <= 10) {
count++;
lcd.clear();
if (count ==

count = 4;

}
delay(250);

}
if (currentPin == 2) {
if (start == 0 && end == 0) {
if (225 >= xValue <= 725 && yValue <= 10) {
lcd.clear();
count++;
if (count == 5) {
start++;
lcd.clear();

lcd.setCursor(9, 0);
lcd.print(badMessages@[count]);
lcd.setCursor(0, 1);
lcd.print(badMessagesi[count]);
}
delay(259);
¥
if (start != 0 & end == 9) {
lcd.clear();




lcd.setCursor(e, 1);
lcd.print(" ")
for ( i=0; i< 17; i++) {

if ((1 % 2) ==0) {

lcd.setCursor(i, 0);
lcd.write((byte)l);
delay(5000);

else {
lcd.setCursor(i, 0);
lcd.write((byte)2);
delay(3000);

}

end++;

}
if (end != 0) {

lcd.setCursor(0, 9);
lcd.print(badMessages@[count]);
lcd.setCursor(0, 1);
lcd.print(badMessagesi[count]);
if (count == 7) {

dispense();
}
if (225 >= xValue <= 725 && yValue <= 10) {

count++;

lcd.clear();

if (count == 9) {

count = 6;

}
delay(2590);

initialQuestion() {

lcd.setCursor(9, 9);
lcd.print("I'm feeling: ");
if (225 >= xValue <= 725 && yValue <= 10) {




digitalWrite(ledPins[currentPin], LOW);
currentPin++;
if (currentPin > 2) {

currentPin = 9;
}
digitalWrite(ledPins[currentPin], HIGH);
lcd.setCursor(0, 1);
led.print("-");
lcd.setCursor(1, 1);
lcd.print(initialMessage[currentPin]);

}
delay(250);

dispense() {

myservo.write(0);
delay(2000);
myservo.write(360);
delay(3000);




